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Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
YT : 39 31, T Afreram o :

Total No. of Pages :
% J3] hl A :

General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-A

Question numbers 1 to 10 carry 1 mark each.

Which of the following number is an irrational number ?
(A) V16 —4 B) (3-+3)(3+3)
© 5+3 (D) —-+/25

When 15+/15 is divided by 3+/3, the quotient is :

(A) 53 (B) 35 (© 55 (D) 343

In a triangle ABC if ZA = 53° and ZC = 44° then the value of /B is:
(A) 73° (B) 83° (C) 93° (D) 46°

In figure - 1, the value of x is :

(A) (B) (© 20° (D) 40°

ZAQOD
ZDOB

4
= 5 then /COB is:

In figure - 2, lines AB and CD intersect at O. If

A C

D
Figure - 2

(A) 80° (B) 100°

If p (x)=7—3x+2x2 then value of p (—2) is :
(A) 12 (B) 31 ©)
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The angles of a triangle are in the ratio 2 : 3 : 4. The angles are :

(A) 20°, 60°,80°  (B) 80° 40°, 60°  (C) 40°, 60°,80° (D) 60°, 40°, 80°

Which of the following is a quadratic polynomial in one variable ?

(A) V223 +5 (B) 2x2+2x~2 Q) «x (D) 2x2+12

In figure - 3, the value of (Zx + Zy) is::

A

y

C
Figure - 3

(A) 80° (B) 100° (C) 120°

In figure - 4, which of the following statement is true ?

A

19 cm
Figure - 4
£ZB=«C
Z B is the greatest angle in triangle

Z B is the smallest angle in triangle

Z A is the smallest angle in triangle
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SECTION -B

Question numbers 11 to 18 carry 2 marks each.

Represent /3 on the number line.

1 1 1 1
Find the product of [x - —], [x + —], 2 4+ — | and x4 —|
x x

x X
In figure - 5, if AB||CD then find /PQR.
A P B

<—1i
< >

125°

355
R
Figure -5

In figure - 6, BP L. AC, ZPBC=25° and £ZDAC=30°. Find the value of x.
A
B
P
0%0°

25° X
D
Figure - 6

Express 3.57 in the form of B, where p and q are integers and q= 0.

In figure - 7, ABCD is a square. Find the co-ordinates of points A and D.
Yy

A

\4
|

Y
Figure -7
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17. In figure - 8 if PQ||RS, ZPAB = 60° and £ACS = 117° then find (x —y).

117°

R B 3
Figure - 8

<&
<

In figure - 9, if AB||DE then find the measure of ZBCD.

18. In figure - 10, if PS=RQ then prove that PR=5Q.

/Q
R S

P
Figure - 10
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SECTION-C
Question numbers 19 to 28 carry 3 marks each.
Simplify the following :
2 N 1 B 3
5+3 o B2 B2

OR

. el
Find the value of a and b if \/§+1=a—b\/§.

If (5)*~3x (3)2*~8=225 then find the value of x.
OR

1
If x=3—-2./2 then find the value of [xz - —2]
X

»a a+b 2b b+c He c+a
Prove that = X |[— o =1.
2 2¢ 24
Using suitable identity evaluate (—28)3+ (9)3+ (19)3.

If a2+b%2+c2=90 and a+b+c=20 then find the value of ab+bc +ca.
OR

-1
If x= 3 is a zero of the polynomial p (x)=27x3—ax2—x+3 then find the value of a.

The sides of a triangle are in the ratio 3 : 5 : 7 and its perimeter 600 m. Find the area of the
triangle.

In figure-11, if AB||CD, ZFAE = 90° and ZAFE = 40° then find Z/ECD.

Figure - 11
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26. In figure-12, BO and CO are bisectors

of /DBCand ZECB respectively.
If ZBAC =50° and ZABC = 60° then find the measure of ZBOC.

Figure - 12

27.

In figure - 13, PQ||RS and T is any point as shown in the figure than show that
ZPQT + £ZQTS + £ RST = 360°.

& Q

S
Figure - 13

28.

In figure - 14, AABC is an equilateral triangle with co-ordinate of B and C as B (1, 0) and
C (5, 0). Find the co-ordinate of vertex A.

v A

B C‘x
1 2 3 4 5

Figure - 14
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SECTION-D
Question numbers 29 to 34 carry 4 marks each.

Find the values of a and b so that the polynomial x> —ax2—13x+b has (x—1) and (x+3) as
factors.

Without actual division show that x*+2x3 —2x2+2x—3 is exactly divisible by x?+2x—3.
OR

2
; + 27a + 9a2.
64b 4b 16b

Factorize : 27a% +

If x+y+z=1, xy+yz+zx=—1 and xyz= —1 then find the value of x°+13+23.

If the bisectors of the angles Z ABC and ZACB of a triangle ABC meet at a point O then

prove that ZBOC = 90° + %AA.

In a triangle ABC, AB=AC, E is the mid point of AB and F is the mid point of AC. Show that
BF =CE.

In AABC, £B=45°, £ZC=55° and bisector of £ A meets BC at a point D. Find the measure

of angle ZADB and ZADC.
OR

In figure - 15, Zx= Zy and PQ=QR. Prove that PE=RS.

»
-

Q Sx P

R
Figure - 15
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Y99 AT 1 ¥ 10 ok Wik U9 1 3Tk T gl
frefafed o 9 &F 9 9en s T2
(A) 16 —4 B (3-+3) (3+3)
© 5+3 (D) —+25

15+/15 &l 3+/3 | 90 3 W YFTHA © :
(A) 53 (B) 3.5 (C) 55

TH AABCH afg ZA=53°Tq £C= 44° A @ /B FIAA T :
(A) 73° (B) 83° (C) 93°

AFfa-1H xFAAR

< »

(A) 30° (B) 10° (C) 20° (D) 40°

ZAOD _
/DOB

Mpfa - 2 ®, [T AB a1 CD fog O R wfa=eg &=t &1 afg

%@?ﬁLCOB?ﬁ

(A)
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W&p(x)=7—3x+2x2@?ﬁp(—2)wlqﬂ%:
(A) 12 (B) 31 Q) 21

Tk S o IO T AU 2:3: 471 HIOH HI AT R
(A) 20°,60°, 80°  (B) 80° 40°% 60°  (C) 40° 60°,80° (D) 60°, 40° 80°

fretfefed & 9 =i o1 sgue Tk =R § 50 ogue 8 2

(A) V2x% +5 (B) 2x2+2x~2 Q) 2 (D) 2x2+y2

AFA3H, (Lx + Ly) FHAA R :
A

Yy

100°

C
ST - 3

(A) 80° (B) 100° (C) 120°
apfa - 4 ¥, Frafafga & @ &9 91 o9 94 €2

A

19 cm
TR - 4
/B=/C
Z B, 39S &1 T g1 R B
/B e &1 9o S R0 R
Z A T3S 1 a8 BT #1077
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1 1 1= 1 o
x — =, |x+ =], P [ B | P <hT U AT RITST |
x X x2 x4

TTepfd - 5, af AB||CD &1 @ £PQR %1 911 F1d &I |
A P B

<—1i
< +—>

125°

35

& R —>
3TRId -5

D
3Mpfa - 6 W, BP L AC, ZPBC=25° @41 /DAC=30°% | x &1 T JTd I |

357 1 £ & wu § s Hiferg Sei p 991 g qoileh © A1 q= 0 R |
q

apfd - 7 °, ABCD U a7 ®1 foig A 9o D & fadena 3 sife |
y

A
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3T - 8 |, A PQ||RS, LPAB = 60° @2 LACS = 117° & @l (x —y) 1 TH I HiSC |

P A Q

& >
< Ly

Yy

. 117°
R B c &

FHd - 8

&
<

AT
3TRfd - 9 H, Af< AB||DE &1 a1 «BCD @t A9 F1d ST |

D E

B
100°

C
TR - 9

3Mfd - 10 #, If€ PS=RQ & I fag wifsw f& PR =5Q.

/o/Q
R S

P
FHTd - 10

dus -9
U9 WEAT 19 § 28 Tk Uk U9 3 3Tkl T T
A HIT

2 1 3
B+ Bz B

HAYAT

RIS \/\/_gli =a—b+/3 B @l aqA b H T FTA HIfC
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g (5)* 3 x (3)2~8=225F Tl x &1 HM A HIT

YT

e x=3-2.2 %ﬁ?ﬁ[xz - xiz] =1 A I FHIC

ST HAHHeRT T TAR FLd BT (—28)3 + (9)% + (19)% F1 HH F@ hifeC |

IG a2+ b2 +c2=90 A a+b+c=20 & @ ab+bc+ca 1 IH J1d HIFTTC |

YT

'<’3I'ﬁ‘{x=_?1 TGUS p(x) =27x3 —ax2—x+3 1 Tk YLAF @ a F1 I A BT |

Teh TS T [SIeT &1 ST 3 :5: 7 €1 a1 3Heh! TRETT 600 Y. B 1 S 1 &%t 1 i |

3Thfa-11 H, AfS AB||CD, ZFAE = 90° @ ZAFE = 40° & @ £ECD ! |19 J1d SHIT |
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26. ATFHfqa - 12 4, BO 99T CO FHI: HI1V /DBCHN LECB & wHAfgwss g1 3afe
/BAC =50° 92l ZABC = 60° & § ~BOC ! HIY JTd HITSIT |

o

A
O
50

B A0 C

AWAY

@)
TR - 12

T - 13 §, PQ||RS e T fot & wefefa ww fog &1 fag wifem i -
ZPQT + /QTS + / RST = 360°.
P Q

& 3
<

>

S
3Tehid - 13

3Thfa - 14 B, AABC Us wuarg e ® f9d fiig B (1, 0) aen C (5, 0) 1 ¥ A & v 9
FHITIT |
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| us -
U9 GEAT 29 W 34 T T UIT 4 HhT &7 &

ARG (x—1) T (x+3) TGI8 x> —ax?2—13x+b & T[UHETE T ql a T b T TH TN HIToIC |

o1 9TTHRe ®T Tshan 1 TAN i fag Hifee ff agag ad + 213 — 242+ 2x — 3 FgIE 42+ 2x — 3
@‘{U'i'd: fawifsa g 81

YT

2
S + 27a + -
64b 4b 16b

27a% + TUFEUE HifeT |

A x+y+z=1, xy+yz+zx= —1 T xyz= 13 T‘ﬁx3+y3+z33h'[ A 1A I |

Ifg T AABC % ZABC A1 ZACB & gafguea fag O W fuem & @t fag #ifsw f&

ZBOC =90° + %AA.

T 99 ABC ®, AB=AC T E YT AB &1 &4 g a1 F o1 AC 1 927 fag §1 Twiise
BF = CE.

T# AABCH /B=45°7qd ZC=55°T| £ A % GHGUN® Y1 BC ¥ foig D W fyera1 1 £ ADB
e £ ADC ! |19 H1d il |

B DE)
APA-15H, Lx=ZyTNMPQ=QRT| &g HINTPE=RS.

QeS8 P
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